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REGULAR/ATKT- NOYEMBER 2023 /
SUBJECT: Financial Accounting “3q / [ 2%
TIME: 3.00 HOURS ARKS: 100

1] tAMULTIPLE CHOICE QUESTION. (ANY TEN) (10 Marks)

| . Addition of a computer lab to the building Rs.60000

4) Revenue. b) Capital.
¢) Deferred revenue, d) None.
2. Salaries and wages appear in
a) Trading ac b) Profit and loss ac.
¢ ) Balance sheet. d) Trial balance.
3. Deprecation is allocated on the basis of
b) Value of assets b) Area
¢ ) Light points d) Nos of workers.
4. Amount paid at the time of delivery of goods is_
a) Cash payment. b) Down payment.
¢ } Advance payments. d) None of the above.
5. The system which keeps records continuously is_ L
2) Perpetuz! b) Periodic
¢ ) Physical d) None of the above
6. The method which reficcts the latest purchase cost 18
a) FIFO b) LIFO
¢ } weighted average method. d ) None of the above.
7. Cost of repairing of building
2} Revenue b) Capital
¢ ) Deferred revenue d) Nong of the above
8. Profit Increases _ i}
a) Capital b) Drawing
¢ ) Expenditure. d) None of the above.
9, Drawings are deducted from
a) Sales b) Purchases
¢ ) Capital d ) None of the above
10 Manufacturing Account Balance is transferred to :
a)Opening WIP b) Profit & loss Account
¢) Opening Finished Goods d) Trading Account
11.Factory Shed is shown at
a)Asset biProfit & Loss Ale
¢)Trading Ale d) Manufacturing A/c
[2. Advertisement Expenses is allocated amongst the department
aiPurchase Ratio b)Sales Ratio
¢)Capital Raio d} None of the above
(.1(B) STATE TRUE OR FALSE. (ANY TEN) (10 Marks)

I. There is a need to disclose accounting policies.

FIFO method is logical.

Stock valuation affects profit and loss ac.

Revenue expenditure is recurring in nature.

Amount paid for acquisition of patents are capital expenditure,
Profit and loss account is a statement of assets and liabilities.
Prepaid expenses is # liability.

He s



8. OQutstanding salary is an income.
9. Carriage inward is allocated on the basis of purchases.

10. Down payment 15 pavment made down the table.

11. Factory Shed is shown at Asset Side of the Balance Sheet.
12, Advertisement Expenses is allocated amongst the department in Sales Ratio.

Q2. State whether the following are capital revenue or deferred revenue. Give reason (20 Marks)

a) Wages for crection of plant and machinery.

i) Legal expense paid 10 connection with issue of shares.

¢) GST paid to the government,

d) Heavv expenditure incurred on advertisement.
e} Amount received on sales of furniture.
f) A Petrol driven engine is replaced by a diesel engine.
g} Cost of improving seating capacity of Cinema hall.

OR
().2. The Trial Balance of Ram industries on 31" December,2022 is as follows: (20 Marks}
| Particulars Debit (Rs) | Particulars | Credit {Rs)
Opening Stock Sundry Creditors 17.000 |
- Raw Material 23.000 | Bills Payable 8.500
= Work in Progress 10,000 | Sale of Scrap 1,500
Finished Goods 15,500 | Commission 350
Sundry Debtors 27.00G | RDD 1,650 |
¢ Carriage on Murchase 1,500 | Capital 1,000,000
Bills Receivable 18,000 | Sales 2.00.000
Wages 12,000 | Outstanding wages a.700
Salaries 10,000
Telephone Charges 500
Postage 500
Repairs to Plant 1200
Repairs to Office Furniture 600
Purchases 1,00,000
Cash at Bank 12,000
Plant and machinery 90,000
Office Fumniture 9,000 -
Rem 5,000
Lighting 1.300
Cieneral Expenses 1,600
=——— = 338700 [ S 338700

The Following additional information is provided to you:
1) Closing Stock: Raw Material — 15,800, Finished Goods ~ 18,200, WIP- 7,000

2} Salaries unpaid for December,2022 Rs.1,000.

3 Wages unpaid for December,2022 Rs,3,000.
4) Machinery 1o be Depreciated by 10%.

5) Office Furniture to be Depreciated by 5%.
6) Provision tor Doubtful Debt is to be Maintained at 10%.
7Y Lighting is to be divided between office and Factory. The amount Charged to Factory is Re.300.

8) Factory Premises occupy Y of the total area.
¥ ou are requested to prepare the Manufacturing Account, Trading and Profit & Loss Account and

Balance sheat is relating to 2022,

(20 Marks)



Q3] On 1” Jan,2018: Ram Transport Company purchased a fleet of 4 trucks from HP Lid, on Hire
purchase terms. The cash price of each truck was Rs 59600: Rs 16000 per truck was to be paid on the date
of purchase and the balance in 3 installment of 16000 on 31stDecember every year, subject to interest @
5% p.a. Deprecation was to be provided @ 10% on the reducing balances.

Show Truck Account and the HP ltd. Account in the ledger of Ram Transport Co.

OR
Q3. Humper Department stores had three Departments A.B and C. The following particulars regarding
the three Departments are given: (20
Mn_rksy
Particulars | X | Y | z |

Opening stock | 40000 | 20000 | 60000
Purchase | 110000 35000 | 220000
Salas | 400000 | 300000 200000
" 24000 12000 | 240000

The following expenses were also incurred:

Closing stock

General expenses 24.000 |
{Rent, rates and taxes 18,000
ICmnmi_gsion Received 9,000
Discount Allowed 27.000
Sales promotion Expenses 36,000 |
J Sulesman's Salary 9,000 |
Discount Received l-l.'Jl}EJ

Other information:
\llacate General Expenses and Rent, Rates and Taxes equally between the three
Depantments.
7 Commission received is divided in the ratio of 3:2:1 between Departments AB and C
respectively,
Prepare Depertmental Trading and profit and loss Account allocating other expenses in appropriate basis.

(1. Prepare stock ledger account of Ms Vijaya Ltd from the details given below by

a) FIFO method b) WEIGHTED AVERAGE method, (20 Marks)
DATE PARTICULARS QUANTITY RATE PER UNITI
IST JAN 20135 BALANCE 900 UNITS 20
IND JAN 2015 RECEIVED 400 UNITS 21
STH JTAN2015 ISSUED 600 UNITS =
ETH JAN 2015 RECEIVED 800 UNITS 22
9TH JAN,2015 ISSUED 700 UNITS -
10TH JAN,2015 RECEIVED 900 UNITS 23
11TH JAN2015 ISSUED 400 UNITS --




OR

Q4. A.B,C are three departments of a Departmental Store. Following are some mutual ratios:

Pasticulars A B C {10 Marks)
Sales (in Rs) 300000 ¢ 200000 100000
Space Occupied 10000 - 10000 10000
Enmployee (Mumber) 40 30 5 i
Purchase Lin Rs) J0000 ;20000 @ 10000
Allocate the following expenditure in three Department on suitable Basis;
1) Advertisement Expenses Rs.2 400
21 Salary Rs.a4,000
3) Bad debts Rs.1,600
4) Rent Rs.900
(10 Marks)
(4. From the following balance of Manufacturer Prepare Manufacturing Final Afc for the vear ended 31
December. 2022,
. Particulars Hs
Pureahses:
Raw Material 50,000
Finished Goods 25,000
Carriage :
- Raw Material 700
- Finished Goods 300
Freight Inward:
- Raw Material 1400
- Finished Goods 600
Purchase Return:
- Raw Material 700
- Finished Goods 200
Wases 6,400
Factory Rent H,SEH
- Factory Insurance . 0
| Coal 1,600
Manufacturing Packing 200
Repairs to Machinery 730
Rovalty 1,000
Consumable:
Stores 200
Sales 1,20,000
Sales Return 1,100
Closing Stock:
R&“- Mﬂt‘ﬁ!’ﬂal S,ﬂﬁﬂ
- WIpP 5200
- Finished Goods 25,000 .‘




Prepare Manufacturing Account.
Q 5. A) Discuss the methods of calenlation of cost of inventory?

B) What are the objectives of Accounting policies?
OR

Q 5. Write short notes. (Any 4)
a) Capital receipts
b) Deferred Revenue expeediture.
¢) Weighted average method.
d)  Instalment svetem.
) FIFO Method.

(10 Marks)
(10 Marks)

(20 Marks)



Class : FYBCOM (Sem. I) Sub.; Business Economics - 1
Time : 3 Hrs. Marks : 100

Instructions : 1. All questions are compulsory, subject to internal choice.

QI ’: a't-
L.

10.

11.

2. Draw neat diggrams wherever necessary
3. Use of simple calculator is allowed
4. Figures to the right indicate full marks.

Choose the corréct answer and rewrite the statements. (Any Ten ) (10)
Which subject deals with issues such as business organization, management, expansion and
strategy”

i Busgiflress Economics  ii. History iii. Geography . iv. Home science
What explains the relationship between two or more economic vanables 7

i. Tools ii. Equation iii. Variable v, Curve

Which Latin phrase meanings, “all other things remaining the same™?

i. Quid pro quo ii. Ceteris paribus  iii. No quid pro quo  iv. li sorpasso
Which is the basic economic problem?

i. Availability il. Scarcity iil. Unlimited supply iv. Plenty resources
In a perfectly competitive market individual firms become price ...

i. Taker ii. Maker iii. Controller iv. Regulator
Why eleciricity is have elastic demand?

1. Multiple use ii. Single use iii. Specific use iv. Solo use

What is the value of unitary elastic demand ?

1. Zero if. 1 iii. Infinite iv. more than 1
Which curve shows the different combination of the two inputs producing the same of
output 7

i. Iso Quant ii. Iso Cost iii. Indifference Curve iv. Price line
Which line shows the locus of isoquants where the marginal product of fuctors are zero?

i. Expansion path i, Cost line iii. Budget line iv. Ridge line
What is the terms used for relationship between input and output?

i. Demand ii. Supply iii. Production Function  iv. Demand function
Break-even point indicate ., .................... profit.

i. Zero il. Huge iii. Supernormal iv. Extraordinary
........................... is not related to the level of output.

1. Total cost ii. Total variable cost  iii. Total fixed cost  iv. Average cost
State with reason whether following statements are True or False. (Any Ten ) (10

The variable that affect the dependent variable are known as independent variable.
Micro economics approaches the study of cconomics from the view point of individual.
The term used Lo any decision that involves a choice between two ot more options is called
opportunity cost.
Substitute goods have positive cross elasticity.
Stimulated market situation is the method of technique for demand forecasting.
Grovernment charges high tax on the goods like alcohol, cigarettes,
Law of diminishing marginal return apply only short run.
Iso quant curve know as equal product curve.
Localization of industry at center place generates external of cconomics.
The tota! fixed cost curve has a horizontal slope.
Marginal cost is oblained by dividing TC by the level of output produced.
Break-even analysis is used to determine how much quantity of its product it must sale to
minimise profit.
P.T



Q2.

Q.3

Q4

Q.5

Q.6

Q.6

Attempt Any two of the following.

A.
B.

D.

Describe the basic tools of economic analysis.
Explain what business economics is and its scope.
OR
[f the given demand schedule is Qd =25 - 0.5 Px.
Then estimates the demand for given prices. Where : Py= 19, 21, 25, 28, 30, 31, 40
Discuss the various aspects of functional relations.

Attempt Any twe of the following.

A.
B.

C.
D.

Discuss the nature of revenue curves in different markets.
What is the importance of elasticity of demand?
ORrR
Define Income elasticity of demand. What are the types of income elasticity of demand?

Explain the concept of promotional elasticity of demand.

Attempt Any two of the following

A,
B.

G
ni

Explain [so-quant curve with appropriate diagram.
Define production function and explain its features and types.

OR
Explain the concept of ridge lines.

Explain various external economies and diseconomies of scale.

Attempt Any two of the following

AI
B.

C.
D.

Define cost and the various concepts of cost,

Discuss in details the concept of break- even point?
OR

Define AFC, AVC and ATC.

Explain the Shapes of TC, TFC, TVC.

Attempt both A and B (10 Marks each)

A,

B.

If TEC % 7000 then calculate TVC,TC and AFC, AVC, AC and MC with the help of

following table.

Q O 100] 200 | 300 | 400 | 500 | 600 | 700 | 800 | 900 | 1000

TVC | 0| 60 | 90 100 | 120 | 130 | 160 | 180 | 200 | 240 | 280

What is demand forecasting? Explain its importance in brief 7
OR

Write Short Notes. (Any Four )

i

i,
iii.
iv.
V.
vi.

Opportusnuty cost,

Determinants of demand.
Promotional elasticity of demand.
Expansion path.

Internal economies.

Long run average cost curve.
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SEMESTER-I-EXAMINATION
FYBCOM-COMMERCE-I
Academic Year 2023-24
Time- 3 Hrs, Marls-100

Note- All questions are compulsory.
Figures to the right indicate full marks.

Q. 1. A) Fill in the blanks with the right option. (Any-10) 10 Marks

A means interlinking domestic market with global market.

(Globalization, Privatization, Liberalization)

2. Business should strike a balance among customer satisfuction, profit and

(Society welfare, market share, brand expansion)
3 objectives are called as primary business objectives.
{Economic, social, Organic)

4. In SWOT analysis T stands for

{Time, threat, turnaround, turnover)

3 agreement of WTO is concerned with liberalisation of international investments.
{TRIPS, TRIMS. AoA)
6. environment is concerned with different aspects of population.
(Demographic, political. cultural)
il is an example of vrading bloc,
(Chamber Of commerce, IMF, SAARC)
8. erie 18 COmponent of micro environment,
(Suppliers, Government policies, laws & regulations)
9. A __ report is a blue print guiding the entrepreneurs to undertake a project.

(Committee, Project, Legal, Political)
10, number is required for directors of company.
(DIN, TIN, TAN)

11.The __ has introduced a scheme known as “Priyadarshani Yojana™ to help women
entreprendurs,
(SBIL, RBI, Bank Otlndia)

12 is an entreprencur within organization.
(Manager, intrapreneur, leader)

B) State whether the following statements are True or False. (Any-10) 10 Marks
I. In traditional corcept of business, customer satisfaction was the main objective of
business.

2. Diversification means expansion in existing business.

3. Privatization encourages government investment in business sector.
4. Business environment has no role to play in business planning.

5. External environment is classified as micro and macro environment.
6. WTO promoles local businesses.



7, Law and order is an important factor to be considered in plant location

8, Feasibility study has no utility value.

9, Entrepreneurs conceive business idea.

10, Government does not provide any financial assistance and incentives for promotion of
business unit.

| 1. Social entreprencurs are welfare oriented.

12. NUESBUD is an apex national level institute for providing gntreprencunal
development. ]

Q.2. Answer the questions (Any-Two) 15 Marks
a. What do you mean by business? Explainthe functions of business.

b. Write down the different types of business objectives?

c. Explain the steps to be followed in turnaround strategy.

.3, Answer the questions (Any-Two) 15 Marks
a. Explain the importance of analysing business environment.
b. List out the components of external environment.

¢.Discuss the functions of WTO.

Q.4. Answer the questions (Any-Two) 15 Marks
a. Highlight the significance of project planning in business.
b. List out the factors determines the location of business unit.
¢. Which are the returns and documents to be filed by business unit?

Q.5. Answer the questions (Any-Two) 15 Marks
a. Discuss the importance of entrepreneurship in economic and social development,

b. What are the types of entrepreneurship?

¢. “Government is offering varlous promotional incentives 1o women entrepreneurs,” justify
this statement.

Q.6. Write short notes (Any-Four) 20 Marks
a. SAARC

b. Impact of liberalization on business and the economy

¢. Problems of women enirepreneurs

d. Feasibility study

e. Diversification strategy

f. Qualities of successful entrepreneurs

Best Of Luck




Class: FYBCOM Exam: Sem 1 Subject; Env. Studies
Max, Marks; 100 Time: 3 hours

Instructions:

i All questions are compulsory

1. Use of coloured pencils/pens/stencils is permited.
1i. Attach the maps to your answer booklets.

iv. Figures to the right indicate full marks

Q. 1. A) On the world outline map provided to you mark and locate the tollowing. (10)

a. A water surplus country

b. A country affected by war

¢. Region of the Amazon forest

d. A highly industrialized country

<. Country recently affected by natural disaster
f. Pacific Ocean

g. Norway

h. Tropic of Capricorn

L Arctic Sea

). Egypt

Q. L. B) Answer the following questions based on the given thematic map. (10)

i. What is the theme of the map?

1. What technigue is used for the representation of the theme”

tit. Find out the population of China.

1v. Compare the population size between Indiz and China

v. Which South American country in the map shows higher population size?

Q. 2) Attempt anv two of the following:
A) Describe environment. Write a detailed note on the components of environment. (10)

B) Write a note on the structure and functioning of ecosystem. (10)
C) Explain the importance of environmental studies. (10)
Q. 3) Attempt any two of the following,

A) Define resources. Give a broad classification of resources with suitable examples. (10)
B) Discuss the fuctors that influence resource utilization, (10}

C) Discuss the importance of sustainable growth and resource utilization. (10)



Q. 4) Attempt any two of the following

A) Discuss the Demographic Transition Model. (10)
B} What are the impacts of population explosion on environment? (10)
(') Write notes on HDI and Gross National Happiness? (10)

Q. 5) Attempt any two of the following.

A) Define the term urbanization. Discuss the causes of unplanned urban growth in developing
Countrics. (10)

B) Discuss the impact of migration on both urban and rural areas. (10)
C) Write short notes on any two the following:

i. Smart Cities

it. Urban Heat Island

i1, [Inportance of water resource management
iv. Conventional sources of encrgy

EREkEEERSEFSEFEEEEEE



NVaYD

(8107} NOILYINdOd 40 NOLINGry1sSid

7N W
omm_ me. Emwwﬁﬁ«
. ﬁﬁﬂﬂﬁmj%ﬁm

- FTEOM

8
usv,p
N

%

moieadeod saJ01 25
synesaidan RSy g2y = m

L\\.\_ TE2 E

bedy by

» T i ;

rllﬂ,..—‘-l..lllllh._fmv




CHINA
ﬂmﬂ#gﬂwﬂﬂ»
_mm Preadi Eﬂ.
gé < hikR A \m

1A

v g FiEf 4
S T ﬁ%&i% st m@
.Mm&“ 2 ,.h. sz i @ 2%
~ K e mw &h
f\ﬂ hs H;hu_._i.mn. wg\/:muv

3351 :
S | g RNNJC
f e / ,_,
o

14 sRCENTXA
'

f = Each figure represents 3 :
crores popelation L Ew; WORLD : DISTRIBUTION OF POPULATION (2015)




Fy. 8. Com Semester-] Examination Regularia KT Decentber 2023
Subject: Mathenatical und Statistical Techuigues

Fimes 3 lirs, Murks: LOD

Note: - i1 All questions ave compulsory.

i) G raph paper will be provided on reguest.
i) Use of siniple ealeuiator is allowed,

SECTION-]
Q) Attempt wny FOUR; (20}

3} Rakesh seld the shares of Marui Ldvog Lid. Al the maarker value of T 320 per share bF the brokerase was
(1 5% and the amount recerved by hin was § 21920 Find the number of shares sald by him,

) Kirsn sold his mutual fund at NAY wos €205 with exit load ot 1.5% i he roceived 2 717829, Find the
pumber units sold.

¢} Amrita sold 70.5 units of HDFL muiual fund and received € 362934 unils. 1E the exit load was 1%, Find the
WAY st the time of sals.

41 An Investor bought 300 shares of JSW whose face value was 10 per share. The company declared $0%
Sividend on the share. 17 the raie of remin oa dividend i5 only 1% Find the markel value a1 which he
purchased the share.

¢r Find the dividend declared by ITC. il thie rale Feium on its with face valueRs | and market vatye Hs 180
happens 1o be 0.5%.

()2 Attempt any FOUR: 2h

8l Solve the following L.P.P graphically,

Maximize 2 =6x +4y
subject to 2x+3y <30
Ix+2y =24
x=0,y20

b) Find the value of
) P 1) E) B o2

c) Solve the following LPP graphically

Minimize = =125+ 20y
subjectto x +y 27
5x+2p220
xz0,y20

d}  Cipla manufactures two Lypus antibiotics capsule drugs A and B which were presuribed 1o the ryphinid patient
Capsule A contains 2 units of ampicilfin and | unit of cloaxicillin, Capsule B contains | unit of ainpicillin
and & units of eloxicillin. 1t is Found that 12 units of ampiciitin and 24 units of eloxincillin o gei immediate
relief of patient. The cost of capsule A is T1 and that of capsule B is Z 4. Formulate the L.P-F. 10 minsnize
the cost.

gy A box contains 6 white bal) and 4 red balts. In bow many ways ane can select 3 white and 2 red balls froum
this box?

SECTION-IT ;
O3 Attempt any FOUR: (20)

a) Find the ), .Qz, Gh of the following distribution:

Marks | 0-10 1020 | 2030 3040 | a-50 | i{}ﬁﬂ_]
Ng, of students | 8 g 10| 9 | 6
By Caleutate Dyand Py for the {ollowing datn : - L
i Marks 0-10 10-20 7530 | 3040 40-30
|_No. of students 2 3 46 | 35 19
¢} Find mean and mean deviation from mesit -
Age in yEBrs ! 10-20 ] 20.30 30-40 40-50 | 5060 | f“‘ ,nj
No.ofpesoms | 1 _ \ 12 13 13 I3 3
& Calculate mode for the follawing data. e,
[ Class intorval [ 4020 | 80 126 [ 20— 160 | 160200 | 30 - 240 |
i frequency s | 41 [ -3 ! 9 | 1 |
e) Fud standard deviation for the fuitowh:g_ l{ﬁli.

s Martks 530 | 20-30 [ 30_40 | %0-% | $-60 G-
LT S I T = % |

| No. of sudents 7| 12 b3




L Attempt any FOUR:
al  Two uivhiaged dice are throvwn. Find the probability (it the s of i seore s gy 1o
by A comimiftee of 5 students & to be chasen from 7 boys psd 5 givks Fimd (e peotsabatiny tha the commitiee
CONInS exictly two wirls.
e} Fnd L) oind Vix) fo tie Bollowing disteibation;

% 2 | E 0 | § \ 1

= |
pixd ] ] ‘ n2? (L5 | i i |

d} Theee coms ane tossed simulamennsty: find tee peolalbsiliny it viess s thisd is il

{244

e} Twea cords nre dvswiy Troo well=shafed prrch vl vards, Fisd thine i u{mhi'l.ilr\-' thit Dby are -..is,-uh' vitede

.5 Attem gt any FOUR: {2
a)  Given the fullowing payolT table, suggest which srategy should be consider under
1) Maximax Criterion if) Maximin Criterton i) Laplace Crilerion.

il e

Uypes ol Cream

SR e Paonds 188 _E Cilow 1110 Takene 8
| S000 5 8 s
| EHpM) B 11 I 30
soo0 | 2% N 180

B} Given the following conditional cost matrix comesponding (o 3 acts, Ay Azand Az ond 2 states of nature are
E\ E:and E:. Find the best action to minimize cost using EOL eriterion,

Stales of Nature Probability = L""d'm""'::’“ i (%) =
E, 0.1 ROOD TOO0 000
Ex (L3 S000 4500 4000
Es . . 4 -25000 -1 000 1100 i
¢) For the following payofT table with corresponding probabilities. Obtain the best decision using EMV
Criterion. - o
Events Altormstives Probability
A B C
E| 20000 - 2000 70000 0.25
E 30000 30000 - 30000 05
Es AU000 50000 200000 0.25 |
d) Represent the following decision-making problem by a decision free.
Deimrand Probability
ik E Ex B>
Ay - 50 50 200 02
A5 20 80 B0 0.4
Aj 40 50 a0 03
¢l Given the following payoff wble, suggest which strategy should be consider under minimax regret eriterin
Courses t
Demand - o =it i
Low 500 A0 150
Medium 2.000 | T 300
High 2,500 2,000 El

-End



Sub:-Business Communication
Mote: 1) Attempt all questions,
2) Figures to the right indicate full marks.

Marks: - 100Dur: -3 HRS

Q-1. A) Define the followlng terms in 2/3 sentences (Any FIVE)

[ Decoding
i Feedbnck
iti.  Twitter
iv.  Crapevine
V. Kinesics
vi, Critical listening
vii.  Pronemics
viit. Conscnsus
B) Match the following

(10)

(05)

A

1 | Mark Zukerberg

Communication through Words

2 | Ouline Communication

il

Ego

3 | A Psychological Barrier

il

Email

4 | Verbal Communication

iv

Upward Communication

5 | Message flows from Junior to Senior

Facebook

C) Fill in the blanks

i) Senderneedsa __ to send out a message.

A Feedback B. Vehicle C. Fees D.Medium

i) ig & leaming management system

A Facebook B. Yahoo . Moodle

D.Blog.

03)

jif). facilitates open communication leading to enhanced information discovery and delivery.

ABooksB. Magazines €. Social Media D.Newspapers

iv). is a physical barrier,
A_ Halo Effect B.Ego (C.Noise D.Status

v} scans your incoming emails.

AV irus Protection Soltware B.Hardware

C . Mouse 0. Computer




-2 Write short notes on the following (Any FOUR) {207

Communization eyele

b o—

E -mail
3. Formal Channeis of Communication
4. Wrinen Communication
5. Moodle as e-learning plitform
6. Facebook associal media
Q-3 Write aaswers of the following guestions in detail (Any TWO) {209

Ay Explain Physical and language barriers Lo Communieation in detail?

B} Mustrate the need and impornance of effective listening skills in Communication?

€} Explain the necessity of Business Ethics in an organisation.

Q-4. Draft an application Jetter with Resume in response to the following advertisement. (10)

*Wanted Marketing Supervisor for a Mumbai based organization. The candidate should be fluent in English, Marathi
and Hindi, Apply with Resume to The Manager, Ramdas Industries, 125,°B" wing, M.G. Road, Mumbai-400012.
Q-5.Drait the following letters {(Any FOLR) (20}
i) You are applying for M.B.A. in Liverpool University. As a part of the admission process draft your
Statement of Purpose.
i) Mr. Ajoy Mishra  has been appointed as a secretary to Manager of & company. Drafl his letter of
acceptance of job offer.
iii) Ms. Vianita Kharat has been working excellently as a Team Leader in Marketing Depurtment. Draft her
letter of appreciation,
iv) Mr.Pradeep Joshi has been working as Supervisor in Sales Department of the company, DraRt his
recommendation letter to Manager for promoting him as Assistant manager.
) Mr.Dhiraj Tawade has been working as  Supervisor in production  department of tie company. He
wanted to resign citing health related problem. Draft his resignation letter.

0-6. A. Write s meaninglul paragraph on the following{Auny ONE) %)
1. Child lebour
ii.  Social Media and ¥ outh

-6 B.Read the following situation carefully and answer the questions given below:
The college authorities want 1o go digital, Bul the academicians of the college are determined siuce the pecessary
infrastruecture and technological facilities nre unavailuble. There is also a deep concern abowt studol teacher ratio,
Moreover, the academicians do nol want to go for any Technology Training Prograni it ut all organized.

. 1dentify the barriers and write in a sentence or two about the identified barricis ( U3)

2. Suggest wiys to overcome the barriers (02}



Class : FYBCOM (Sem. I) Sub.: Foundation Course —1I
Time: 2 Y; Hrs. Marks: 75

Instructions : 1. All questions are compulsory, subject to internal choice.
2. Figures to the right indicate full marks.

Q.1  A. State with reason whether following statements are True or False. (Any Seven) (7)

1. Indian society is pluralistic in nature.

2, The urban population is mostly engaged in the agriculwral sector.
3.  The basis of skill is the criterion to determine ones caste.

4, The Indian Constitution declare India a seculer state.

8,  Guru Nanak is the founder of Sikhism.

6. India has official religion.

7.  Demography is a study of population.

8.  Nagar Panchayat functions at the village level.

9,  Sarpanch is appointed by the Zilla Parishad to the carry out the routine work of the
Gram Panchayat.

10. The rural local self-government in India is described as Municipal Corporation.

B. Choose the correct answer and rewrite the statements, (Any Eight ) (8)
1. State boundaries are largely based on........... groups.
L Language iii.  Geography
ii. Religion iv.  None of the above
2. India occupies about .....% of worlds land area.
1. 224 . 2.24
ii. 24 iv. 202
3.  What is defined as the number of females per thousand males?
i. Infant Morality Rate il Gender Ratio
i Birth Rate v, Maternal Mortality rate
4, Cataractis the maincauseof. ... ...
i. Blindness iii. handicap
il Cancer iv. none of the above
5.  Among the states ............. has the lowest highest ratio in India
i, Kerala iii.  Goa
ii. Gujarat v. Haryana
B s ore,0f Women refers to the criminal practices of exploiting women.
i Trafficking ii.  Health care
i Education Iv.  Marriage
7. The age of child labor should not be below .........as per Indian Law.
i. 14 1ii. L&
ii. 12 iV, 8

8. Panchayat Samiti functions at........... level.
i.  Taluka li.  City P.T.
ii. District iv.  All the above
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Q.2

Q.3

Q4

Qs

Which is a form of social violence against women?

1. Eve teasing 1. Rape

1. Dowry harassment Iv. Molestation
10 What causes blindness?

i. Deficiency of vitamin A iil. Overweight

1, Underweight iv. Deficiency of vitamin C
11. Denial of share in property is a form of what kind of violence?

I Domestic i, Social

ii. Criminal iv.  Environmental

12.  What is the purpose of Pre Conception and Pre Natal Diagnc-sli'c Technigque Act
(PCPNT)?
2 Preventing female foeticide 1. Maternal mortality
i Child Marriage v, Early Marriage
Attempt Any one of the following.

A.  Explain the multi -cultural diversity of Indian society.
OR

B.  Explain the demographic composition of India.

Attempt Any one of the following .
A,  Explain the various types of violence against women. What are the Causes and
effects of it ?
OR
B. Write detail note on physical disability,

Attempt Any one of the following .
A.  What are the causes and effects of communalism? Suggest measures to stop
communalism.

OR
B. What is Castism? Explain the causes, effects and solution on it.

Attempt Any one of the following,
A. DBring out the importance of Features of Constitution of India.
OR
B. Which are the Fundamental Dutics are given in constitution,

Attempt any one ( A or B},
A. Explain the structure of local self-government in urban area rural area.
OR
B.  Write Short Note on any three
i. 73" Constitutional amendment act.

ii.  Classification of political parties,
ifi. Regionalism causes.

iv. Female feticide.

v. Characteristics of rural area.

(13)

(15)

(15)

(15

(13)

(15)



